2006/5/2

1
Real part
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©®) 0
M2 =x"2 +y"2
X =r.cos(0 )
y=rsin(0 )
z=r0O(0) r.cos(0 ) r.sin(0 )
©(©) cos) .sin(0 )
©®) db sin(@ ) +icos(6 ) =i© (8 )
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Euler
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en(im /2) i
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[ ¢-a =r (12mi)f f(C) (€-2) ¢

[ ¢-a =r (Q2mif () (¢ ¢
[ ¢-a =r (Q2mif () - ) (- - M- ) ¢
¢

1(1-(z-a)/( ¢ -a)) = [n=0,e [3 {(z-a)/(  -a)}*n

[ ¢-a =r (2mif f(C) ¢ ~An+l) ¢
f['n](a) / n!

Taylor
0 1 [h-1]

=/=

Rational Functions

f(2) = P(2)/Q(2)

P(2), Q(2) Polynomial

Rational Functions

Laurent

R1 R2

m=-1,-0 Y Cm.(z-a)™m =0, o Y Cn.(z-a)™n

cn=[ Z-a =r (2mi)f fC )T -a»n+1) T (RI<r<R2)
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ole
C[-(m+1)] C[-(m+2)]= =C[- ]
g(a) =/= o
Residue theorem
R1 R2
[ za =r [ f(2) z (1/2mi) [-1]
[-1]

[ za =r [ (z-a»n z =2mi(n=-1)
=0 (n=/=-1)

f(2) [-1] (z-P)+C[0] + C[1](z - P) + C[2](z — P)2 +,,,,,

Res(P) = C[-1] = [z = P](z-P)f(z2)
z=P
f(z)  [nl(z-P)"(n) + [-n+1](z - PYA(-n+1)+,,,,+C[-1](z-P)™(-1)
+ C[0] + C[1](z—-P) + C[2](z - P)*2 +,,,,,
Res(P) = C[-1] = [z = P]1/(n-1)! .[(d/d2)(n-1)] {(z-P)n .f(z)}

Residue theorem
f(z) R1 z-a R2
f(2) z-a <R1 z=P1, P2,,,Pn
[ zza =r [ f(z) z 2mi[k=1,n]Y Res(Pk)
Res(PK) Pk
f(2) z-a <R1 z=P1, P2,,,Pn
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CIR]
C;CII+CIR] K P1=i \
R0 ° : R,0
(-R,0) o0 (R,0)
ClI] [-R.R] CIR]
Clll CIR] C
f(2) = U(14272)  [z9=]z f(2) =0 [CIRS f(z)dz=0 (R>w)
I =[R> J[C[I) f(z)dz = [R> J[C]f f(z)dz = 2 i[k]3 Res(Pk)
Res(Pk) C
f(2) = U(1+z272) = 14(z+i)(z-i)} P1=i, P2=-i
P1

Rea(pl) = [z=2>i](z-i) .f(z) = 1/2i

I=2mi.Res(P1) =1t

f(z) = L{(1+z72)}2 = 1/(z+i)™2 .1/(z-i)"™2

Pl1=i ,P2=-i 2

Res(P1) = [z~>i][d/dz]{(z-i)"2 .f(2)} = [z2il{(-2(z+)(-3)} = 1/4i
I= 2mi.Res(Pl)= 1 /2
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3 m 1 [ cos @ cos @ (0}
/al >1
z=en(ig ), cosp = (z+ 1/2)/2 dz/de =ienip) =iz do =dz/iz

1= [/z/=1]f f(2)dz
f(z) = 1/2ai .(z2+1) /z /(z+a) /(z+1/a)

| = [/z/=1]] f(z) dz=2m i .[K]Y Res(Pk)
Res(Pk) Pk (Residue)
f(z) P1=0, P2 =-1/a,P3=-a
P1 P2
Res(P1) = [z=>0] {z .f(2)} = 1/2ai
Res(P2) = [z -1/a] {(z+1/a) .f(2)} = - 1/2ai .(a”2+1)/(an2-1)

I =21 i {Res(P1)+Res(P2)} = -21t /a /(a”2-1)

4 o [ cos I

1 =1/2 . [-00 ,00 ][ cOS(X)/(X2 + a”2) dx

J=[-00,0]f sin(X)/(x*2+a"2)dx=0
e”(ix) = cos(x) + isin(x)
1 =1/2 . [-0 ,00 ] e™(iX))/(X"2 + a”2) dx

x>z
1 =1/2 [C]] enNiz)/(z 2 + an2)dz
C (D)
f(z) = eNiz)/(z"2 + an2) = e”\(iz) /(z+ai) /(z-ai)
[z20]f(z2) =0 z=ai

Res(ai) = e”(-a)/2ai

1 =21/2[C]f enNiz)/(z*2 +an2)dz=1/2 .21t i .Res(ai) = T e”N(-a)/2a
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Laplace

Y(s)=[t=0, o] J y(t).e™(-st) dt (Re(s) > o)

y{t) =(Q/2mi)[s= 0 - 0 +ico ][ Y(s).e”(st)ds

y()=0(t<0)
t=0 t>0 y(t)
Y(s)  y(©) o
( ) o

[s2 JY(s)=0

t>0
z=R .e”Ni6 ) (11 /2 <6 <31 /2)
t>0 R> o 0

y)=(/2mi)[s=-ico ][ Y(s).e™(st)ds =][k]Y Res(Pk)

Pk (k=1,2,,) Y(s).eMst

v

Re(s) > o

Y(s).e”\(st)
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1)

Y(s) .e™(st) = (s+1) /(s+2) /(s+3) .e”(st)
P1=-2, Res(Pl)=-en(-2t)
pP2=-3 Res(P2) = 2e”(-3t)

y(t) = 2en(-3t) —e(-t) (t>0)

)

Y(s)= (s + v (5)i ) /(s - V (5)i ) .e(st)
P1= v (5)i Res(P1) = 1/2V (5)i .e~(V (5)it)
P2=- v (5)i, Res(P2)=-1/2V (5)i.e(- V (5)it)
y(t) = Res(P1) + Res(P2) = sin(¥ (5).t) V (5)

3) W A2

Y(s) =s/(s+iw )2 /(s-iw )2 .e”(st)
Pl=iw, P2=-iw

Res(P1) = [s~>iw ][d/ds] {s/ (s+iw )2 .eN(st)} = -iw t .eN(iw t) /4w N2
Res(P2) = [s>-iw ][d/ds] {s/ (s-iw )2 .e(st)} = iw t .e(-iw t) /4w N2

y(t) = Res(P1) + Res(P2) = wt .sin(wt) /2w
(4)
Y(s) = e(t-5)s /(s+2)
P1=-2

Res(P1) = [s=>-2] en(t-5)s = e”(-2(t-5))

y(t) = en(-2(t-5))

Y(z) =[n=0, » 3 y(n).z*(-n) ( z =<p )
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yny=@2ni)[ z =p1 Y@.zMn-1)dz
= [K]Y Res(Pk)
Pk (z =p)

[ z =p]f z*kdz=2mi (k=-1)
=0( )

1)
Y(2).zMn - 1)=zNn - 1) /(1-z(-1)) = z”*n /(z-1)
P1=1, Res(P1) =1

y(n) = Res(P1) =1 (n>0)
=0 (n<0)

)
Y(2) .zN(n-1) = z™N(n+1) /(z-1)"2
P1=1
Res(P1) = [z>1][d/dz] z™(n+1) = n+1

y(n) = n+1 (n>0)
=0 (n<0)

®3) +
z/ =3
Y(z) .z™(n-1) P1=2,P2=-3
Res(P1) = [z>2] z\(n-1) .(z-1) /(z+3) =2~(n-1)/5 =2"n /10
Res(P2) = [z>-3] zM(n-1) .(z-1) /(z-2)=4/5 .(-3)™(n-1) = -4/15 .(-3)™n

y(n) =2~n /10 - 4/15 .(-3)™n (n>0)
=0(n<0)
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